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* & H = THEAE THEAE .
= B A 33,400,000 33,800,000 A\ 400,000
& N = # 300,000 300,000 0
E AN =% 32,100,000 32,500,000 A\ 400,000
7 = % 1,000,000 1,000,000 0
A= e A 100,000 200,000 A 100,000
A& eI A 100,000 200,000 A\ 100,000
¥ I A 3,900,000 4,200,000 /\ 300,000
A = A 3,900,000 4,200,000 A\ 300,000
MEOoM A 100,000 200,000 A 100,000
o A 100,000 200,000 A\ 100,000
L8 AE E A 37,500,000 38,400,000 A\ 900,000
GURE N A = 5,780,000 7,650,000 A 1,870,000
w o AN & E 0 (B) 43,280,000 46,050,000 A 2,770,000
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* # H m R H it TREAR
L ¢ 28,400,000 29,250,000 A\ 850,000
fa Bt F 4 10,500,000 10,500,000 0
i I B AR 1,560,000 1,560,000 0
Jik B A2 a8 2 50,000 50,000 0
1 fE E 950,000 1,050,000 A\ 100,000
ES ¢ 1,000,000 1,150,000 A\ 150,000
AT 1,400,000 1,500,000 A 100,000
WFHE 5 & 2,000,000 2,100,000 A 100,000
& Bk F Rl 1,800,000 2,000,000 A\ 200,000
CiESE TR ¥ 900,000 900,000 0
IR S ¢ 4,600,000 4,800,000 A 200,000
7 = & 1,800,000 1,800,000 0
=T I 1,790,000 1,790,000 0
HE # 50,000 50,000 0
s OB R’ 9,010,000 9,060,000 A 50,000
fa Bb F 4 3,200,000 3,200,000 0
i I B A 2 720,000 720,000 0
Jik B A2 3 2 50,000 50,000 0
A E A 350,000 400,000 A\ 50,000
D i T FE A 350,000 350,000 0
O 1,450,000 1,450,000 0
K St BE 560,000 560,000 0
woa & 2,300,000 2,300,000 0
HE # 30,000 30,000 0
514 TEA S H 400,000 400,000 0
S 55 2 T 400,000 400,000 0
FENLTAA S 1,000,000 1,000,000 0
L HE e 1,000,000 1,000,000 0
T 1,000,000 3,000,000 A 2,000,000
T 1,000,000 3,000,000 A 2,000,000
W A (©) 39,810,000 42,710,000 A 2,900,000
BN S EE (A)—(O) A 2,310,000 A 4,310,000 2,000,000
MR G =R (B) - (C) 3,470,000 3,340,000 130,000




